L P Maths

PAPER II (300 marks)

1. Find, to the nearest penny, the compound interest on
£540 for 3 years at 57 per annum. Find, to the nearest

pound,

the sum of money which would amount to £500 in 6

years at 57 per annum, compound interest.

2, (1)

(i1)

Given that the nt” term of a sequence 1is denoted by
T, write down T, T, , and T, _;, where T,, = 2 = n
Find the sum of the first 20 terms of the sequence.
Nine small stones are placed in a row. Each stone
is 10 metres from the next. A boy collects the
stones together one by one at the middle stone in
the row. Find the distance travelled by the boy

in collecting the stones beginning at the middle
stone, and show that this distance is less than

the distance which would be travelled in collecting
the stones together one by one at any other stone
in the row, assuming that collection begins at that
other stone.

3. (a) Find the real part and the imaginary part of the num-
ber (2 — 32)( — 6 + 7).
(b) If Z) = 2 - 372 and Z2 = -6 + 7 prove

(215 * 23] < |21] + 23]

On an Argand diagram represent Z), Zp, =21, =Zy, Z; + Zp
and - (Zl i Zz)-

4 A.(i) State the properties of a group.

(ii) Show that ({O,E}, +) is a group under a suitable
operation of addition, where O is the set of odd numbers
and E is the set of even numbers.

Can {0,E}, be made a group under multiplication? Give
a reason.
(You may assume that both addition and multiplication
in the set of integers are associative).

(iii) Show that the set of reflections of an equilateral tri-
angle in its axes of symmetry is not a group under the
usual operation of composition.

OR

4 B.What is the mean of the following array of numbers:

2e 3y 95 10, 10, 13, 16.

Compute the standard deviation. (Give your answer correct
to 1 place of decimals). The graph shows the number of

cars, classified according to price range, sold by a garage
salesman in one month:











